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Question Number : 1 Question Id : 630680190917 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0.5

GATRI STTeteT Hfeh THGIHT hlvTd TTaTe Shel 318 ?

Options :

1. % Zyiid GHTH0T R

2. ® YT YR hRYRTT dTuR v
3. ¥ JUTIT HIVId 3TTG hid HuATe

4, « JMUTTIT {TNT JiHTes v

Question Number : 2 Question Id : 630680190918 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5
WA e g HIaich aTIRARTI Hg<ard URUT hiUTd! 31Tg?

Options :

1. ¢ ifden fereprar=it 9=om
2. # iy srferd=h drom
3. % wqre7 AR oRon
4. % 9T NI OO

Question Number : 3 Question Id : 630680190919 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0.5
GTetierdehl ShiuTd faem gehre 3ma?

Options :

1. # SAIICTeT QU Terh clleh Shdos ¥ Tefeh WINT ITURAT.

2. % oqroer fenre’ WS fafdey &sridiet quraTgul aTiRIgE gt .
3. ¢ ATHET B dShIthShl gldl.

4. ¥ ST SATSTISIAT AR T goTR 9N fEdcdTd 3Med.

Is Section Default? : null



Question Number : 4 Question Id : 630680190920 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0.5
SRATATET STUT 3IUT el - I AECHAGTATST TFY A, e

Options :

1_@5“@@

2. v 8T

3. % Hioeh

4. % HEIA

Question Number : 5 Question Id : 630680190921 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0.5
QT FHTel HHEEUF UeE Tl HIgd, e Tehram T eSS,

Options :

| horel 3THR T FAIUTORT - FHeea

, x Herel 3THER FAUOIRT - Fo

5 g
3. ¢ '-'ll-LII"'IIHRH'I SIFUTIUd - Yo HEdSh

4 » G 98E BN - &

Question Number : 6 Question Id : 630680190922 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0.5

Sellerden! HIUTAT AT 0T HTE?

Options :

| % JTHE=AT 3§ ANR HH=T HAFFH0T FAT T =Tefe.

, x HTSEY BT A= fATS0T FAr = H1E HTH=

5 % AT HTHE=E [ATEUT g HTH=AT SATHET AT =Toro.

4 HTHEAT AN ATHE=E =0T ST g =erer 37g.

Question Number : 7 Question Id : 630680190923 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0.5
BT A7 F A Hada A=A S5 Eoier g, Jde IRy T e,

Options :

1o -G

5 % ST - 8T

4. % ?%'\‘:F-?%@'

Question Number : 8 Question Id : 630680190924 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5



TH Uiadh FAA Holed] HETT=A FAEIN Fe! ¥ 9 e W, T U U

Options :
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Question Number : 9 Question Id : 630680190925 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0.5
FIVTCATE T 3ATTBTUN FI0T ITAS el (oo FgUilde AT FF0T e,

Options:

1. # ™ mg.

5 % TSI d SFEAE
3 % TOT R AT

4 v T EBE I & A

Question Number : 10 Question Id : 630680190926 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0.5
‘Hfer AT AEGT Tr FFoiET 3T FT HRE?

Options :



|« ¥ QO FeArE IRUTA a5 A
5 % AT AT QIUT =TT AT,

5 « TISE ET HEROT REsa.

4 » PO AErEr Hfave T Iwar, ar AT gsaa.

Is Section Default?: null

Question Number : 11 Question Id : 630680190933 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Which of the following approaches of science relies on systematic observations?

Options :

1+ Empiricism
2 % Rationalism

3. % Determinism

4 w Personal experience

Question Number : 12 Question Id : 630680190934 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0.5

What is the name of the study that involves clinical trial in which neither the participants nor the researcher knows

which treatment or intervention participants are receiving until the clinical trial is over?

Options :



1 % Triple-blind study

5 « Double-blind study

3 % Blind study

4 % Empirical study

Question Number : 13 Question Id : 630680190935 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0.5

Which of the following is NOT a characteristic of modernisation?

Options :

1« Itdecreases economic and political participation.

> % New ideas are accepted in modernisation.

3 % Modernisation is a universal process of change.

4 % It leads to increase in urbanisation, equality, freedom and democratic values.

Question Number : 14 Question Id : 630680190936 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

According to which perspective of modernization is the underdevelopment of some countries and the development of

others linked to the emergence of the modern capitalist system on a global scale?
Options :

1 = The psychological perspective



5> % The diffusionist perspective

3  The Marxian perspective

4w The ideal-typical perspective

Question Number : 15 Question Id : 630680190937 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Which of the following compounds does NOT cause ozone laver depletion?
Options :
1. ® CFCs

, « CO,

3 % Halons

4 % HCFCs

Question Number : 16 Question Id : 630680190938 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Which of the following standards related to environmental management that exists to help organizations minimise their

operations that negatively affect the environment?
Options :
1. % ISO 8000

2. % ISO 11000



3.« ISO 14000

4. % ISO 6000

Question Number : 17 Question Id : 630680190939 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

India is the largest emitter of CO, in the world, as per the India Energy Outlook 2021 report.
Options:

1. % first

2. % second

3. % fourth

4.« third

Question Number : 18 Question Id : 630680190940 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

In which year was the Policy Statement for Abatement of Pollution adopted in India?
Options:
1.« 1992
2. % 1995

3 % 1998

4 % 1999



Question Number : 19 Question Id : 630680190941 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0.5
In which of the following vears was the ‘Pradhan Mantri Awas Yojana (Urban)’ launched to tackle the urban housing

backlog in India?
Options :
1. % 2017

> % 2014

3 & 2015

4 % 2018

Question Number : 20 Question Id : 630680190942 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0.5

As per the Sample Registration System (SRS) Bulletin of Registrar General of India (RGI), what was the Infant
Mortality Rate (IMR) in India per 1,000 live births in the year 20197

Options :
1. % 81

Is Section Default? : null



Question Number : 21 Question Id : 630680190943 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

The potential difference between two plates is related to the charge on the plates by a proportionality constant. This

constant is known as
Options :

1. % conductor

2. % dielectric constant

3  capacitance

4. % conductance

Question Number : 22 Question Id : 630680190944 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

In an electrodynamic instrument, how many coils are used instead of permanent magnets to provide the magnetic field?
Options:

1. % 1

I3

w
-
5]

Question Number : 23 Question Id : 630680190945 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0.5

Which of the following statements is correct about electrostatic instruments?

Options :

1 % They measure only the AC quantity of voltage.

5> % Deflecting torque is directly proportional to voltage.

3.  The power consumption is quite low.

4. % The scale is uniform.

Question Number : 24 Question Id : 630680190946 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Which of the following is NOT considered as an analogue instrument?

Options :

1 % Null-type and deflection-type instruments

> % Indicating instrument

3 w Integrating instrument

4. Digital display meter

Question Number : 25 Question Id : 630680190947 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5
Which of the following options is INCORRECT as a property of DVMs?

Options :



1 % High input range

> w High absolute accuracy

3 % Resolution 1 part in million

4+ Requirement for calibration from to time to time

Question Number : 26 Question Id : 630680190948 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0.5

Which of the following parameters is inversely proportional to the flux produced in a soiled electromagnetic core?
Options :

1. % Number of turns

2 % Current

3. % Area of the core

4.+ Reluctance

Question Number : 27 Question Id : 630680190949 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

A magnetic circuit with two or more than two paths for the magnetic flux is called
Options :

1 % direct magnetic circuit

5> % indirect magnetic circuit



3. « Parallel magnetic circuit

4 % series magnetic circuit

Question Number : 28 Question Id : 630680190950 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks
Display Text : 0.5

Correct Marks : 2 Wrong Marks : 0.5

Induced EMF " E,’ in a transformer is flux by 90°.

Options :

1 % leading

> « lagging

3 % connected

4. ¥ non-connected

Question Number : 29 Question Id : 630680190951 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5
Excitation current is made up of two components, of which the one in phase with the applied voltage V" is called
Options :

1. % current loss component

2 core loss component



3 % Vvoltage drop loss

4 % agnetising current

Question Number : 30 Question Id : 630680190952 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Which of the following methods is used for the winding resistance test of a transformer?
Options :

1. % Dielectric test of transformer method

> w Zero sequence impedance method

3 Kelvin bridge method

4 % Vector group test of transformer method

Question Number : 31 Question Id : 630680190953 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Which of the following tests is conducted by measuring the high voltage winding voltage and the low voltage winding
voltage?

Options :

1. % Measurement of acoustic noise level

> % Winding resistance test

3.« Transformation ratio test



4. % Dielectric test of transformer

Question Number : 32 Question Id : 630680190954 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks

Display Text : 0.5

Correct Marks : 2 Wrong Marks : 0.5

For resistive load, the percentage of voltage regulation is equal to the percentage of

Options :
1 % reactance drop x sing,

5 % resistance drop x sind,

3« lesistance drop

4 w reactance drop

Question Number : 33 Question Id : 630680190955 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Which of the following options is correct when copper losses are equal to core losses in a transformer?
Options :

1 % Minimum efficiency

2 o Maximum efficiency

3 % All-day efficiency

4 % Maximum power efficiency



Question Number : 34 Question Id : 630680190956 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

What is the transmission ratio of a transformer wherein the size of the autotransformer is approximately 50% of the

corresponding size of two winding transformers?
Options :

1. % 1

I~

4. % 8

Question Number : 35 Question Id : 630680190957 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

A star-delta connected transformer with | : | as the turns ratio will provide line-voltage ratio.
Options :
181 : v/3 step-down

2 V3 1 step-down
3 % 1 t /3 step-up

4 % V3 1 step-up

Question Number : 36 Question Id : 630680190958 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Which of the following parts is NOT used in synchronous motors?
Options :
1 « Field winding with AC supply

> % Armature winding with AC supply

3 % Damping winding for self-starting

4 w Pole for the electric magnetic field

Question Number : 37 Question Id : 630680190959 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks

Display Text : 0.5

Correct Marks : 2 Wrong Marks : 0.5

Which of the following options is INCORRECT as a feature of a synchronous motor?
Options :
1 % It maintains a constant speed from no-load to full load.

5> « The speed of a synchronous motor is dependent on load.

3 % Itisnot inherently self-starting.

4 % Itisoperated under a wide range of power factors-both lagging and leading.

Question Number : 38 Question Id : 630680190960 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks

Display Text : 0.5



Correct Marks : 2 Wrong Marks : 0.5

A synchronous machine produces the maximum power when the load angle is

Options :
1% 0°

3. % more than 90°

4.+ less than 90°

Question Number : 39 Question Id : 630680190961 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

is a combination of the armature winding leakage reactance and the reactance used to represent an armature

reaction.
Options :

1 % Synchronous resistance

2 5}*'11':1].['{31101.15 reactance

3 % Synchronous impedance

4 % Synchronous admittance

Question Number : 40 Question Id : 630680190962 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5
Which of the following options is INCORRECT as a part of a single-phase induction motor?



Options :

1« Sliprings

> % Capacitor

3 % Armature winding

4 % Bearing

Question Number : 41 Question Id : 630680190963 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

In which of the following single-phase induction motors is an extra winding wounded on the same core of the stator and
is connected with a centrifugal switch?

Options :

1 % Capacitor-start induction motor

5> % Shaded-pole induction motor

3.« Split-phase induction motor

4 % Permanent capacitor induction motor

Question Number : 42 Question Id : 630680190964 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Single-phase induction motors do not without an auxiliary stator winding driven by an out-of-phase current of

near 90°.

Options :



1.« self-start

2 % start

3 % have low torque

4. % have low current

Question Number : 43 Question Id : 630680190965 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0.5

Which of the following methods is used in applications wherein very sensitive speed control of motors is required?
Options :

1 % Multiple voltage control method

5>  Ward Leonard system

3. % Armature control method

4. % Flux control method

Question Number : 44 Question Id : 630680190966 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

In a three-point starter, when the arm is moved from Position 1 to the last position, the starter resistance gefs n

seties with the field winding.
Options :

1. % subtracted



2.« added

3. % divided

4 v Multiplied

Question Number : 45 Question Id : 630680190967 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5
If a DC motor is started without starter, which part of the DC motor CANNOT get damaged?

Options :

1. % Brushes

2. % Commutator

3 « Yoke

4 % Windings

Question Number : 46 Question Id : 630680190968 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Which types of plants use the geothermal fluids that pass through a heat exchanger with a secondary fluid and then,

drive the turbines, spin the generators and create electricity?

Options :

1 % Flash steam power plants

5> % Dry steam power plants



3  Binary-cycle power plants

4. % Direct heat transfer power plants

Question Number : 47 Question Id : 630680190969 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Which of the following statements is INCORRECT for conventional hydropower stations?
Options :

1 = Asurge chamber is created with a dam.

> w Penstocks convey the water from the dam towards hydraulic turbines.

3. % A downstream basin is used.

4 Anupstream basin is used through a pumping station.

Question Number : 48 Question Id : 630680190970 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Which type of turbine ensures optimum performance with small height differences, but also with large variations in
capacity?

Options :

1. % Pelton turbine

5> « Kaplan turbine

3. % Francis turbine



4. % Turbo turbine

Question Number : 49 Question Id : 630680190971 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0.5

Which of the following components of a nuclear power generation station contains the fuel and has a nuclear chain

reaction with all of the muclear waste products?

Options :

1 % Steam generation unit

> w Turbine and generator

3.« Nuclear reactor

4 % Cooling tower

Question Number : 50 Question Id : 630680190972 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0.5

Which of the following options is INCORRECT as a nuclear fuel used in a nuclear reactor for the fission process?
Options :

1. % Thorium-232

2 % Uranium-233

3.« Cadmium-253

4. % Plutonium-239



Question Number : 51 Question Id : 630680190973 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Which of the following conditions is INCORRECT when a site is to be selected for a steam power plant?
Options :

1 % The fuel station should be near the plant.

5> % The fuel station must be positioned near a riverbank.

3« The fuel station must be located near populated areas.

4 % The plant should be placed near load centres.

Question Number : 52 Question Id : 630680190974 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Which of the following is an advantage of a steam power station?
Options:

1 = Life and effectiveness of a steam power plant are concise.

5 % Costof power generation is high.

3« [ttakes low initial investment and less time to commission a plant.

4 % Coal may get depleted due to gradual use.

Question Number : 53 Question Id : 630680190975 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 2 Wrong Marks : 0.5

Which of the following states is correct regarding the output that is constant during the operation of a plant?
Options :

1 « Base supply without regulation

5> % Base supply with regulation

3 % Automatic non-economic regulation

4 % Automatic economic regulation

Question Number : 54 Question Id : 630680190976 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Which of the following factors does NOT influence the generating cost?
Options :

1 % Generator efficiency

2. % Fuel cost

3.+« Unbalanced load

4. % Transmission losses

Question Number : 55 Question Id : 630680190977 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Which of the following is equal to a small change in input divided by the corresponding change in output?

Options :



1. # Fundamental curve rate

2. % Corrected fuel rate

3.+« Incremental fuel rate

4. % Conditional curve rate

Question Number : 56 Question Id : 630680190978 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0.5

In case of which of the following buses are the voltage magnitude and the active power at the bus specified?
Options :
1. % Load bus

2 « Generator bus

3 % PQbus

4 % Swing bus

Question Number : 57 Question Id : 630680190979 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Which of the following is a set of unknown quantities used for a reference bus?
Options :

1. % Pand VI

> « Pand Q



3 % Qando

4. % |'Vland &

Question Number : 58 Question Id : 630680190980 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Which of the following is called a true short circuit?
Options:

1. # Focus-on short circuit

2« Bolted short circuit

3 % Open circuit

4. % Corrected short circuit

Question Number : 59 Question Id : 630680190981 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Which type of fault is called symmetrical fault?
Options :

1 = Single line-to-ground fault

2. % Line-to-line fault

3 % Double line-to-ground fault



4+ Balanced three-phase fault

Question Number : 60 Question Id : 630680190982 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Which of the following is an example of the transient stability of a power system?

Options :

1 % Acircuit exceeding the maximum power permissible

5> « Sudden application or removal of the load

3. % Normal load fluctuation

4 % Action of an automatic voltage regulator

Question Number : 61 Question Id : 630680190983 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Which of the following components of an HVDC transmission line is used for AC-to-DC conversion and DC-to-AC
conversion?

Options :

1. % Smooth reactor

2. % Harmonic filter

3.« Converter

4. % DC lines



Question Number : 62 Question Id : 630680190984 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5
Which of the following statements is INCORRECT about an HVDC line compared to an HVAC line?

Options :

1 % Itisused for bulk power transmission over long distances.

2 % Its use incurs low transmission losses.

3« Iteasily increases the voltage level.

4 % ltsuse involves less voltage fluctuations.

Question Number : 63 Question Id : 630680190985 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Which type of voltage control reactor is located near the load end and can inject or absorb reactive power?

Options:
1 % Shunt capacitor

5> « Synchronous condenser

3. % Shunt reactor

4w Induction voltage regulator

Question Number : 64 Question Id : 630680190986 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0.5

Which of the following options is INCORRECT as a function of a switchgear in a power system?

Options :

1 = To carry the circuit

2 % To make the circuit

3. % To break the circuit

4. To analyse the circuit

Question Number : 65 Question Id : 630680190987 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Which of the following devices is NOT included in the switchgear protection of a power system?

Options :

1 % Protection relay

2. % Electrical fuse

3  AIC joiner

4 % Lightning arrester

Question Number : 66 Question Id : 630680190988 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

During the interruption of large current, a circuit breaker would be large arcing

Options :



1. % between the terminals of the circuit breaker

2. % outside of the circuit breaker

3 between the switching contacts

4. % inthe material of the circuit breaker

Question Number : 67 Question Id : 630680190989 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0.5

Which of the following types of circuit breaker is categorised as a service?
Options :

1.« Outdoor circuit breaker

5> % Spring-operated circuit breaker

3. % Pneumatic circuit breaker

4. % High-voltage circuit breaker

Question Number : 68 Question Id : 630680190990 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Which gas in an oil circuit breaker produces the cooling effect?
Options :

1. % Methane

>  Hydrogen



5 % COp

4 % Nitrogen

Question Number : 69 Question Id : 630680190991 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Which type of SFg circuit breaker is applied for a system of up to 420 KV?

Options:

1 w Single-interrupter SFg circuit breaker

5>  Iwo-interrupter SFg circuit breaker

3 x Four-interrupter SFg circuit breaker

4 % Six-interrupter SFg circuit breaker

Question Number : 70 Question Id : 630680190992 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0.5

Which of the following conditions is called de-energising of a relay?
Options:
1 % When the electromagnet is applied with some current

> % When the copper coil and the iron core act as electromagnets

3 % When the coil is applied with DC current



4+ When the supply is removed and it retrieves to the original position

Question Number : 71 Question Id : 630680190993 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Which of the following types of relay is used to connect two terminals of a single circuit at a time?
Options :

1 % Single-pole single-throw relay

5> % Single-pole double-throw relay

3.« Double-pole single-throw relay

4. % Double-pole double-throw relay

Question Number : 72 Question Id : 630680190994 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Which of the following types of relay is a gas-operated or actvated relay that is used to detect incipient faults?
Options :

1 % Polarised relay

5 « Buchholz relay

3 % Reedrelay

4 w Solid-state relay



Question Number : 73 Question Id : 630680190995 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5
Identify the type of relay shown in the following figure.

[SOLATING
ol TRANSFORMER —0—
l & '> ke
| DCAC 2 |

=L | comertr | I Hm:u L0
J-_—  ymeeR| ]|,

o1 | oRouT [© ‘

AC PONER

Options :
1. Solid-state relay

5> % Inverse definite minimum time relay

3 » Buchholz relay

4 w Polarised relay

Question Number : 74 Question Id : 630680190996 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0.5
Which of the following provides a system that consolidates and presents the data from SCADA field devices and

enables operators to understand and, if needed, modify the status of SCADA-controlled processes?

Options :

1. % Communication infrastructure

2.« HMI software



3 % SCADA supervisory computers

4. % Remote terminal units

Question Number : 75 Question Id : 630680190997 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Which of the following makes the communication between relays and other equipment in a network possible, for doing

automation of the system?
Options :

1 % Mechanical relay

5> « Numerical relay

3 % Solid-state relay

4 % Overcurrent relay

Question Number : 76 Question Id : 630680190998 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Which of the following is shown at the back side of a numerical relay?

Options:

1 % Numerical keypad

2 % LED reset button

3. % Control button



4. IB for binary outputs

Question Number : 77 Question Id : 630680190999 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Which of the following is the correct representation of a converter that is a kind of integrated circuit which converts

signals from continuous form into discrete form directly?
Options :
1. % D/A
2.« AD

3. % DAC

4. % DtoA

Question Number : 78 Question Id : 630680191000 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

The final block in ADC is a/an that converts signals from digital form info binary form.
Options:

1.« encoder

> % quantise

3. % hold

4 % sample



Question Number : 79 Question Id : 630680191001 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0.5

_{--.

What does the above symbol, which is used in ladder logic, indicate?

Options:

1 % Indicator lamp

2 % Overload heater

3 « Relay coil

4. % Solenoid coil

Question Number : 80 Question Id : 630680191002 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Which of the following PLC operation steps involves communication with programming terminals, internal diagnostics,

efc.?
Options :

1 % Inputscan

5> « Housekeeping

3 % Program scan

4 % Output scan



Question Number : 81 Question Id : 630680191003 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0.5

Which of the following is considered in an alternating current (AC) station service?
Options :

1 % One or more battery banks

5>  Emergency backup provided by a diesel generator

3 % Flashing of the exciter field

4. % Lubrication systems

Question Number : 82 Question Id : 630680191004 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Which of the following types of pump is used for removing leakage water from a plant?
Options :

1 % Draught pump

9 % Grape pump

3  Drainage pump

4 % Tumbril pump



Question Number : 83 Question Id : 630680191005 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Which of the following types of boiler feedwater pump is adopted for high-pressure and high-temperature applications,

such as the suberitical steam power generation?
Options :

1 = Ring section type pump

> w Horizontal split type pump

3 % Double casing internal horizontal split type pump

4. Double casing internal ring section type pump

Question Number : 84 Question Id : 630680191006 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Which of the following is provided as a fire hydrant and spray system?
Options :

1. % Water reservoir

2 Water pumps

3 % Impeller

4 % Hydrant and HVWSS

Question Number : 85 Question Id : 630680191007 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0.5

Which of the following helps reduce fire hazards in a power plant?
Options :

1 % Outdoor or indoor oil-insulated equipment

2 % Oil-insulated cable

3.« Arc quenching by gas

4. % Hydrogen-cooled synchronous condensers

Question Number : 86 Question Id : 630680191008 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Which of the following is included in control and relay building hazards?

Options :

1« Gasoline storage or dispensing facilities

> % Thermal damage caused to the building structure

3 » Smoke damage caused to other equipment

4 % Mechanical damage by force

Question Number : 87 Question Id : 630680191009 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

An earth mat helps in limiting the ground potential and offers protection against the

Options :



1« faulty current

> w heat produced by equipment

3. % fire hazards

4 # cooling of the system

Question Number : 88 Question Id : 630680191010 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0.5

What is the recommended value of ground resistance according to the NFPA and the IEEE?

Options :

1 % 5.0 Qor higher

2« 5.0Q or lower

3. % 25.0 Qor lower

4 % 35.0Qor higher

Question Number : 89 Question Id : 630680191011 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Which of the following is NOT done by using earth mats in a power station?

Options :

1 = Discharging the overvoltage from overhead lightning masts

> % Providing neutral earthing



3. % Arranging a path to discharge the charge between phase and ground by using earthing switches

4+ Controlling the voltage level by providing a path for reactive power

Question Number : 90 Question Id : 630680191012 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Which of the following does NOT use the DC battery system supply in a power station?
Options:

1 % Control and signalling work

> w Relays and the tripping circuit

3 Supply distribution system

4 % Emergency motors

Question Number : 91 Question Id : 630680191013 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Which of the following is a rectifier with AC input that is normally made to take all the DC requirements of a power

station, without allowing the battery to discharge?
Options :
1 % Fastcharger

5 « Trickle charger

3. % Confider controller



4 % Charge controller

Question Number : 92 Question Id : 630680191014 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Floating in DC bus bars, the battery remains connected to the DC bus bars as a

Options :
1 % direct supply source
5> « standby supply source

3 % fluctuated supply source

4 % constant supply source

Question Number : 93 Question Id : 630680191015 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Which type of battery is NOT used in a power system for backup of the DC supply?
Options :

1 = Lead-acid battery (tubular)

5> w Lead—acid battery (plaint)

3« Dry cell (circular)

4 % Ni—Cd battery



Question Number : 94 Question Id : 630680191016 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Which of the following auxiliary equipment of a power station is used as immediate protection against the input power

inerruptions?
Options :

1 = Charge controller

2. % Converter

3. % Inverter

4 v UPS

Question Number : 95 Question Id : 630680191017 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks
Display Text : 0.5
Correct Marks : 2 Wrong Marks : 0.5

Identify the type of UPS shown in the following figure.
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Options:



1.+ On-line UPS

2. % Off-line UPS

3. # Line interactive UPS

Standby-Ferro UPS

Question Number : 96 Question Id : 630680191018 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0.5

Which of the following devices converts fixed AC voltage into variable AC output voltage at the same frequency?
Options :

1. ® Inverter

2 % Chopper

3 ¢ AC voltage controller

4 % Cycloconverter

Question Number : 97 Question Id : 630680191019 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

Which of the following options is correct about power BJT compared to MOSFET?

Options :

1 = Itisamajority carrier device.

> w Itisavoltage control device.



3.« It has negative temperature coefficient.

4 % Switching frequency is relatively high.

Question Number : 98 Question Id : 630680191020 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5

What is the output voltage in a single-phase fully controlled bridge that is connected to an RL load, where R =04 Q

and L =2 mH, if the source voltage is 230V, 50 Hz and the firing angle is 0°7
Options :
1 % 32020V

> % 390.2

Lo |

v

3 ¢ 207.07V

4 % 19021V

Question Number : 99 Question Id : 630680191021 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks

Display Text : 0.5

Correct Marks : 2 Wrong Marks : 0.5



Identify the following circuit diagram.

VS afjm

Options :
1 % Single-phase AC voltage regulator

5> % Single-phase full-wave controlled rectifier

3.« Midpoint cycloconverter

4 % Bridge type cycloconverter

Question Number : 100 Question Id : 630680191022 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0.5
Which of the following types of chopper works in two quadrants?

Options:
1 % Class-A chopper

> % Class-B chopper

3. « Class-D chopper



4 % Class-E chopper



